
 
INSTALLATION INSTRUCTION 

 

 

IP 553              Issue Number: 02  Date: 29th May 2024 

Page 1 of 10 

  

    LMJ – MOBRA REPAIR INSTALLATION GUIDE 
 

 

 

Description 
 

 

Tools & Additional Items Required 

 

 

 

This kit is used to move the internal MOBRA system, external to the 

LMJ closure.  

 

   

Tools: 

1. Resin gun 

2. POZI 2 screwdriver  

3. Suitable spanners for M10 

 

 

 

 
 

Component Parts (pictures not to scale) 
 

  

 

1. RESIN KIT  Qty 1 2. M10 NUT  Qty 1 3. M10 WASHER Qty 2 

 
 

 

 
 

 

 

 

 

4. M10 BOLT                     Qty 1 5. EXTERNAL MOBRA BRACKET

    

6. PLUNGER CONFIGURATION

                

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

OAsys Equipment meets BT 

OTIAN Equipment Specifications 



 
INSTALLATION INSTRUCTION 

 

 

IP 553              Issue Number: 02  Date: 29th May 2024 

Page 2 of 10 

 

INSTALLATION GUIDE 

 

 

 

 

Step 1 
 

 

• Move the closure into the vertical position by lifting the closure and 

putting the black pin through the Mobra knuckle. 

 

 

 

 
 



 
INSTALLATION INSTRUCTION 

 

 

IP 553              Issue Number: 02  Date: 29th May 2024 

Page 3 of 10 

 

INSTALLATION GUIDE 

 

 

 

 

Step 2 
 

 

• Remove the orange clamp and cap from the LMJ to expose the internal 

parts of the closure. 

 

 

 

 

 



 
INSTALLATION INSTRUCTION 

 

 

IP 553              Issue Number: 02  Date: 29th May 2024 

Page 4 of 10 

 

INSTALLATION GUIDE 

 

 

 

 

Step 3 
 

 

• Unscrew the screw holding in the MOBRA plunger and put the plunger, 

screw, and washers aside in the same order. Check kit contents 5 for 

plunger configuration. 

 

 

 

 



 
INSTALLATION INSTRUCTION 

 

 

IP 553              Issue Number: 02  Date: 29th May 2024 

Page 5 of 10 

 

INSTALLATION GUIDE 

 

 

 

 

Step 4 
 

 

• Remove the closure from the MOBRA arm by sliding it upwards off the 

arm.  

 

• Push the external MOBRA bracket over the arm in the orientation as 

shown above.  

 

• Replace the MOBRA plunger and screw tight using a screwdriver. 

 

 

 

 



 
INSTALLATION INSTRUCTION 

 

 

IP 553              Issue Number: 02  Date: 29th May 2024 

Page 6 of 10 

 

INSTALLATION GUIDE 

 

 

 

 

Step 5 
 

 

• Mount the closure onto the external MOBRA bracket.  

 

• Thread the M10 BOLT through the LMJ base and external MOBRA and 

tighten the nut using appropriate tools. 

 

 

 

 



 
INSTALLATION INSTRUCTION 

 

 

IP 553              Issue Number: 02  Date: 29th May 2024 

Page 7 of 10 

 

INSTALLATION GUIDE 

 

 

 

 

Step 6 
 

 

• Push the foam resin stop into the top of the Mobra cavity in the LMJ 

base, so that it is sat on top of the external MOBRA Bracket inside the 

LMJ base. 

 

 

 

 

 



 
INSTALLATION INSTRUCTION 

 

 

IP 553              Issue Number: 02  Date: 29th May 2024 

Page 8 of 10 

 

INSTALLATION GUIDE 

 

 

 

 

Step 7 
 

 

• Fill the Mobra cavity so that it is filled to 1cm from the top of the cavity. 

 

• Leave the resin to set for 30 mins. 

 

 

 

 



 
INSTALLATION INSTRUCTION 

 

 

IP 553              Issue Number: 02  Date: 29th May 2024 

Page 9 of 10 

 

INSTALLATION GUIDE 

 

 

 

 

Step 8 
 

 

• Replace the cap and clamp and move the joint into the horizontal 

position. 

 

 

 

 



 
INSTALLATION INSTRUCTION 

 

 

IP 553              Issue Number: 02  Date: 29th May 2024 

Page 10 of 10 

 

INSTALLATION GUIDE 

 

 

 

 

Step 9 
 

 

• The MOBRA Repair is complete. 

 

 

 

 

Copyright Prysmian Group - 2024 You may not copy, reprint, or reproduce in any form the content, either 
wholly or in part, of this Installation Guide, without the written permission of the copyright owner. Specifications 

are for product as supplied by Prysmian Group: any modification or alteration afterwards of product may give 
different result. The information is believed to be correct at the time of issue. Prysmian Group reserves the right 
to amend the information within this Installation Guide without prior notice. This Installation Guide may include 
inaccuracies, omissions of content and of information and is not contractually valid unless specifically 
authorised by Prysmian Group. Property of Prysmian Group UK - Uncontrolled when printed Prysmian Cables 
& Systems Limited, Chickenhall Lane, Eastleigh, Hampshire, SO50 6YU, United Kingdom. 

 

PRYSMIAN HELPLINE: + 44 (0) 78161916333 
connectivity.helpline@prysmian.com 
 

 


